

H. Paul Kyburz, Market Administrator
 4570 W. 77<sup>th</sup> Street, Suite 210
 Minneapolis, MN 55435-5037

Telephone: (952) 831-5292

Fax: (952) 831-8249

UPPER MIDWEST MARKETING AREA

Federal Order No. 30

Agricultural Marketing Service Dairy Programs

Home Page:

www.fmma30.com

Dairy Programs

2150 Western Court, Suite 100

P.O. Box 4469 Lisle, IL 60532 Telephone: (630) 810-9999 Fax: (630) 810-1788

2701 International Lane, Suite 102 Madison, WI 53704

Telephone: (608) 242-1822 Fax: (608) 242-1846

# COMPUTATION OF PRODUCER PRICE DIFFERENTIAL FOR MARCH 2002

		Utilization	Product	Component		
		Percentage	Pounds	Pounds	Rate	Value
Class I	Differential Value					\$ 6,002,508.19
	Product	18.9%	346,321,333			
	Skim Milk		, ,	340,970,121	\$ 7.1000	24,208,878.63
	Butterfat			5,351,212	1.3617	7,286,745.39
Class II	Product	2.4%	43,272,478			
	Nonfat Solids			3,267,398	0.8511	2,780,882.44
	Butterfat			7,333,504	1.3708	10,052,767.28
Class III	Product	77.6%	1,418,215,845			
	Protein			43,250,586	1.8342	79,330,224.88
	Other Solids			81,124,880	0.0688	5,581,391.73
	Butterfat		T	51,543,179	1.3638	70,294,587.52
Class IV	Product	1.1%	19,769,960			
	Nonfat Solids			1,351,584	0.7660	1,035,313.37
	Butterfat			4,895,404	1.3638	6,676,351.97
SCC Adjustment (Class II, III, and IV)						83,252.68
Total Producer Milk			1,827,579,616			\$ 213,332,904.08
Add:	Add: Overage Inventory Reclassified					27,574.20 3,014.93
Other Source Milk §.60(h) Other Source Milk §.60(i)						0.00 0.00
Subtract: Transportation Credit Assembly Credit Credit for Reconstituted FMP						196,191.66
						275,612.00
						0.00
	Producer Milk Protein Producer Milk Other Solids Producer Milk Butterfat					101,985,203.13 7,181,376.26
						94,270,355.22
	Producer Milk SCC A	Adjustment				177,038.12
Total Milk	and Value		1,827,579,616			\$ 9,277,716.82
Add: Location Adjustment Producer and Unregu				ipply Plant Milk	1,482,407.85	
	One-Half Unobligated	d Balance Prod	Fund		954,926.20	
Total Valu	ie		0.641015	\$ 11,715,050.87		
Subtract: Producer Settlement Fund Reserve					0.041015	749,573.17
Producer Price Differential (Dollars Per CwtBase Zone) \$0						\$ 10,965,477.70

#### **MINIMUM PRODUCER PAY PRICES FOR MARCH 2002**

	Produce	r Price Differe	 ntial	
		Location Adjustment	PPD at Location (Per cwt.)	
	Base Zone (Cook County, IL)	\$ 0.00	\$ 0.60	
	Other Zones	\$ -0.05	\$ 0.55	
		-0.10	0.50	
		-0.15	0.45	
		-0.20	0.40	
Pri	ce	(Pe	r pound)	\$ 1.8342
olic	ids Price (Per pound)			0.068

Protein Price	(Per pound)	\$ 1.8342
Other Solids Price	(Per pound)	0.0688
Butterfat Price	(Per pound)	1.3638
Somatic Cell Adjustment Rate	(Per cwt. per 1,000 SCC)	0.00060
Statistical Uniform Price	(Per cwt.)	11.25
Total Number of Producers in the Pool		14,172

		Producer Milk							
	Utilization	Utilization Product Pounds Skim Milk							
Class I	18.9%	346,321,333	340,970,121	5,351,212					
Class II	2.4%	43,272,478	35,938,974	7,333,504					
Class III	77.6%	1,418,215,845	1,366,672,666	51,543,179					
Class IV	1.1%	19,769,960	14,874,556	4,895,404					
Total	100.0%	1,827,579,616	1,758,456,317	69,123,299					

		Components in Producer Milk							
	Butterfat	Other Solids	Nonfat Solids						
Total	69,123,299	55,602,008	104,380,469	159,982,477					
Percentage	3.78%	3.04%	5.71%	8.75%					

April 11, 2002

H. Paul Kyburz, Market Administrator

The United States Department of Agriculture (USDA) prohibits discrimination in all its programs on the basis of race, color, national origin, gender, religion, age, disability, political beliefs, sexual orientation, and marital or family status. (Not all prohibited bases apply to all programs.) Persons with disabilities who require alternative means for communication of program information (braille, large print, audiotape, etc.) should contact the USDA's TARGET Center at 202-720-2600 (voice and TDD).

To file a complaint of discrimination, write USDA, Director, Office of Civil Rights, Room 326-W, Whitten Building, 14<sup>th</sup> and Independence Avenue, SW, Washington, D.C., 20250-9410, or call 202-720-5964 (voice or TDD). USDA is an equal opportunity provider and employer.

## **Upper Midwest Marketing Area - March 2002**

Distributing Plants §1030.7(a) or .7(b)* or .7(e)	State	County	Rate \$	Supply Plants - (continued) §1030.7(c)	State	County	Rate \$
Aysta Dairy	MN	St. Louis	1.65	Cooperative Regions of Organic			
Cass-Clay Creamery - Fargo	ND	Cass	1.65	Producer Pools	WI	Vernon	1.75
Dean Foods - Chemung	IL	McHenry	1.80	Dairy Farmers of America - Fergus Falls	MN	Otter Tail	1.65
Dean Foods - Huntley	IL	McHenry	1.80	Dairy Farmers of America - Fond du Lac	WI	Fond du Lac	1.75
Dean Foods North Central - Thief River Falls	MN	Pennington	1.65	Dean Milk Procurement - Janesville	WI	Rock	1.75
Dean Foods North Central - Woodbury	MN	Washington	1.70	Dean Milk Procurement - Shullsburg	WI	LaFayette	1.75
Foremost Farms USA - DePere	WI	Brown	1.75	Eau Galle Cheese Factory	WI	Pepin	1.70
Foremost Farms USA - Waukesha	WI	Waukesha	1.75	Edelweiss Cheese	WI	Wood	1.70
Franklin Foods	MN	St. Louis	1.65	Ellsworth Cooperative Creamery	WI	Pierce	1.70
Hastings Cooperative Creamery	MN	Dakota	1.70	Family Dairies USA	WI	Washington	1.75
Kohler Mix Specialties*	MN	Ramsey	1.70	First District Association	MN	Meeker	1.70
Kwik Trip	WI	LaCrosse	1.70	Foremost Farms USA - Alma Center	WI	Jackson	1.70
Lamers Dairy	WI	Outagamie	1.75	Foremost Farms USA - Sauk City	WI	Sauk	1.75
Lifeway Foods - Morton Grove	IL	Cook	1.80	Foremost Farms USA - Sparta	WI	Monroe	1.70
Marigold Foods - Cedarburg	WI	Ozaukee	1.75	Foremost Farms USA - Wilson	WI	St. Croix	1.70
Marigold Foods - Minneapolis	MN	Hennepin	1.70	Gad Cheese	WI	Marathon	1.70
Marigold Foods - Rochester	MN	Olmsted	1.70	Grande Milk - Darlington	WI	LaFayette	1.75
Meyer Bros. Processing	MN	Hennepin	1.70	Grassland Dairy Products	WI	Clark	1.70
Muller Pinehurst Dairy	IL	Winnebago	1.75	Klondike Cheese	WI	Green	1.75
Oak Grove Dairy	MN	Carver	1.70	Kolb-Lena Bresse Bleu	IL	Stephenson	1.75
Oberweis Dairy	IL	Kane	1.80	Kraft Foods - Beaver Dam	WI	Dodge	1.75
Pollard Dairy	MI	Dickinson	1.70	LaGrander's Hillside Dairy	WI	Chippewa	1.70
Pride of Main Street Dairy	MN	Stearns	1.70	Land O'Lakes - Pine Island	MN	Goodhue	1.70
Schroeder Milk	MN	Ramsey	1.70	Lynn Dairy	WI	Clark	1.70
Swiss Valley Farms - Chicago	IL	Cook	1.80	Melrose Dairy Proteins	MN	Stearns	1.70
Verifine Dairy Products	WI	Sheboygan	1.75	Mid-West Dairymen's	IL	Winnebago	1.75
				Mullins Cheese	WI	Marathon	1.70
				Nasonville Dairy	WI	Wood	1.70
Supply Plants	State	County	Rate	NFO - Fond du Lac	WI	Fond du Lac	1.75
§1030.7(c)			\$	NFO - South Wayne	WI	LaFayette	1.75
				NFO - Taylor	WI	Jackson	1.70
Alto Dairy Cooperative - Alto	WI	Fond du Lac	1.75	North Hendren	WI	Clark	1.70
Antigo Cheese	WI	Langlade	1.70	Park Cheese	WI	Fond du Lac	1.75
Associated Milk Producers - Blair	WI	Trempealeau	1.70	Plainview Milk Products	MN	Wabasha	1.70
Associated Milk Producers - Glencoe	MN	McLeod	1.70	Sartori Food	WI	Sheboygan	1.75
Associated Milk Producers - Jim Falls	WI	Chippewa	1.70	Schneider Cheese	WI	Sheboygan	1.75
Associated Milk Producers - Paynesville	MN	Stearns	1.70	Swiss Valley Farms - Hampshire	IL	Kane	1.80
Associated Milk Producers - Turtle Lake	WI	Barron	1.70	Swiss Valley Farms - Platteville	WI	Grant	1.75
BelGioioso Cheese - Pulaski	WI	Brown	1.75	Westby Cooperative Creamery	WI	Vernon	1.75
Berner Cheese	IL	Stephenson	1.75	Weyauwega Milk Products - Little Chute	WI	Outagamie	1.75
Bongards' Creameries	MN	Carver	1.70	Weyauwega Milk Products - Luxemburg	WI	Kewaunee	1.75
Cass-Clay Creamery - New Salem	ND	Morton	1.65	Weyauwega Milk Products - Weyauwega	WI	Waupaca	1.75
Cedar Grove Cheese	WI	Sauk	1.75	White Clover Dairy	WI	Brown	1.75
Cedar Valley Cheese	WI	Ozaukee	1.75	Wisconsin Dairy State Cheese	WI	Wood	1.70
Chula Vista Cheese	WI	LaFayette	1.75	Zimmerman Cheese	WI	LaFayette	1.75

### **Upper Midwest Marketing Area - March 2002**

Partially Regulated Distributing Plants §1030.8(c)	State	County	Rate \$
Alta-Dena Dairy	CA	Los Angeles	2.10
Berkeley Farms	CA	Alameda	1.75
Cacique	CA	Los Angeles	2.10
Cass-Clay Creamery - Mandan	ND	Morton	1.65
C. F. Burger Creamery	MI	Wayne	1.80
Dannon Yogurt - Fort Worth	TX	Tarrant	3.00
Dean Foods North Central - Bismarck	ND	Burleigh	1.65
Enoch Schultz Creamery	ND	Burleigh	1.65
Milk Products of Alabama	AL	Morgan	2.90
Morningstar Foods - Gustine	CA	Merced	1.70
Ryan Foods - Richland Center	WI	Richland	1.75
Savannah Manufacturing - Savannah	GA	Chatham	3.45
Producer-Handlers §1030.10	State	County	Rate \$
Blackstar Dairy Tetzner Dairy Weber's Farm Store	MN WI WI	Beltrami Bayfield Wood	1.65 1.70 1.70

# Cooperative Associations Acting as Handlers §1030.9(c)

Associated Milk Producers
Bongards' Creameries
Dairy Farmers of America
Family Dairies USA
First District Association
Foremost Farms USA
Land O'Lakes
Liberty Milk
NFO
Swiss Valley Farms